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Q-1 What territories did the Habsburg Empire rule over?
a. Hungary
b. Austria
c. Both Austria and Hungary
d. Romania

Q-2 Which one of the following is not true regarding the impact of the First World War on
India?

a. Defence expenditure resulted in increased taxes

b. Income tax was introduced and customs duties increased

c. The hardships ended with the war as the British introduced the Rowlatt Act

d. Forced recruitment of soldiers was introduced in the villages

Q-3 Which among the following newspapers was the first newspaper published in
India? (1)

a. The Bengal Journal

b. The Madras Courier

c. The Bombay Herald

d. The Bengal Gazette

Q-4Explain any four reasons how the initial enthusiasm of the people of France soon turned
to hostility after Napoleon's takeover of France.

Q-5Which conditions were viewed as obstacles to economic exchange and growth by the new
commercial classes during the nineteenth century Europe?

Q-6 “Ideas of nationalism also developed through a movement to revive Indian
folklore".Support the statement with suitable examples.

Q-7 What was the reaction of religious authorities and monarchs about printing?
CIVICS

Q-1 How is the ethnic composition of Belgium very complex? Explain



Q-2 Briefly explain the ways in which power sharing between different organs of the
government results in the maintenance of balance of power.

Q-3 Explain the role of union list, state list and concurrent list with context to India.
Q-4 In what ways has the local government deepened our democracy?

Q-5 Which national party draws inspiration from the teachings of Mahatma Phule and
Periyar? Write any three points related to this party.

ECONOMICS

Q-1 Suppose records show that the average income in a country has been increasing over a period of
time. From this, can we conclude that all sections of the economy have become better? Illustrate your
answer with an example.

Q-2 In Tamil Nadu, 90% of the people living in rural areas use a ration shop, whereas in West Bengal,
only 35% of rural people do so. Where would people be better off and why?

Q-3 By setting up their production plants in India, MNCs such as Ford Motors tap the advantage not
only of the large markets that countries such as India provide but also the lower costs of production.
Explain the statement

Q-4 How will the import of steel from India into the Chinese markets lead to the integration of
markets for steel in the two countries? Explain

Q-5 Foreign trade v/s Foreign investments. Give the differences

GEOGRAPHY

1. Give the difference between renewable and non-renewable resources with examples .
2.Give 2 factors that determine soil fertility.

3.Give a short note on reserves

4.What was the views of Gandhiji on resource conservation?

5.What has significantly contributed to land degradation?

6.How can problems of deforestation be solved ?

7.Is black soil easy to work in hot climate ? Explain .



